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INSTRUCTIONS

1. This paper consists of _3 _Questions and _5_ pages.
2. Write neatly and legibly. Use a black or blue pen only.

3. Number your answers as per question paper. Answer all questions.

QUESTION 1

1.1 Match the statements in Column A with the terms in Column B. Write down the

numbers and next to each, the correct letter.

COLUMN A COLUMN B
1.1.1 The physical count of a population. a) Population
1.1.2 Rapid growth over short period of time. geography
1.1.3 Model explaining how country’s population b) Famine
changes over time. ¢) Literacy rate
1.1.4 Serious shortage of food resulting in death. d) Exponential growth
1.1.5 Percentage of population that can read and e) Fertility rate
write. f) Demographic
1.1.6 The number of deaths per 1000 infants. transitional
1.1.7 Imbalance between population and g) Census
resources. h) Infant mortality rate
1.1.8 People forced to leave their country i) Overpopulation
because of war. j) Refugees
1.1.9 Rate at which babies are born in a country. k) Birth rate
1.1.10 Study of the size, composition and growth I) Death rate

of world population.
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1.2 Refer to Source 1 below (South Africa’s populaﬂon distribution) and answer the
guestions that follow.

0 AE 2K 248 20 20

1.2.1

1.2.2
1.2.3
1.2.4

1.2.5

1.2.6

. People per -
square km -

Differentiate between population dsstrlbutlon and populahon
density. , 14

Comment on the distribution of South Africa’s population. [31

3%

List three factors resulting in this _pobUIation distribution. (ans 1.2.2) [3] |

Which province has the lowest density? - ” [2]

Why do you think the province you named (ans 1 2 4) has the

lowest density? - 8

Refer to Durban :
a) Along which ocean does Durban lie? : - [3]
b) Explain why Durban has a high population density. [3]

[21]
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QUESTION 2

2.1 Refer to Source 2 below and answer the questions that follow.

e,
We have'
serious
A1 problems!

. 1 We have
1 problems!

SRR ——

2.1.1 ldentify the type of migration depicted. [3]

2.1.2 List 2 push factors (negative factors) that push people away
from rural areas). [2X2=4]

2.1.3 Discuss 2 consequences of this type of movement on urban
areas. ‘ [2X2=4]

2.1.4 Define the term ‘urbanisation’. | [3]

2.1.5 What can be done by the government to reduce this type of
migration? (2 answers). [3X2=6]

[20]
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2.2 Refer to Source 3 below (population pyramids A and B and answer the
questions that follow.
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2.2.1

222

2.2.3

2.2.4

225

2.2.6

[Source; Google Image]

What is a population pyramid? | ‘ [3]
Classify Pyramid A and B on the basis of shape. [4]
State the age group that has the largest population in Pyramid B. - [3]

Pyramid A has a higher life expectancy. Explain your
understanding of life expectancy. | [3]

Give 2 reasons for the high life expectancy in Pyramid A, [2X3=6]

Which Pyramid, A or B will South Africa be associated with? [3]
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QUESTION 3

3.1 Refer to Source 4 below (Case Study) and answer the questions that follow.

Case sf:udy Effects of voluntary rmgratxon ﬁom South Afnca

Fleemg from. South Africa: why are the best and brlghtest Ieavmg
Afnca s mo”f successful state’ A

14 l ebmarz z009

The South Af1 i van governmem _ hldcks graduatmg in South Amca - constantly bemg pmched” by .
doesn’t keczp el able emigration ;with advanced degrees has grown - plares like Canada, Australia and -
statistics, Buy f umbex of recenL L from 361 000 ’ro 1,4 mitlion a year, the United States (mester iy Iogan,
’ ~ . Butin that time the number of '2009), Banks and tovestment - |
‘chose expressing high hopes to "~ ;companies aré'forced £6 100k for
emtigrate has doublad As growlng . talem ove:seas dnd J:skom has
' numbexs‘ of ules‘e gmduates X oss‘ ' legently begun séi‘am’ 'Img to
«vv',a dcsxre to emxgmtf,, the prospects .. attrdct electricai engmeels back L
- for continued, bIat,k economic: . T ith e
: empowerment are dimmmg
7 Of the Country 5 25.000.
, .Iegiqtered acaoun tants, a quarfel ¢ 2 :
, "':'r.;"-now live overseqs Engineers, S concems like encrgy SEEI P ¥
- doctors, nurses and awoumants : _(adapted froth 8. johnson, "Fleelng-_~
¢ 1o, ; - ocareall i incmablngly short - from South Aflica” New,sweek 14 ‘
the last 12 years, the numbcr of s supply South Airica S doctoxs are o ‘Febmary 2009) LR

‘ dramatm flgures :
amoug South Af

3.1.1 Define the following terms :

a) Voluntary Migration [3]
b) Emigration [3]
3.1.2 Why do you think that mostly whites are leaving South Africa? [3]
3.1.3 What type of professional peoplé are leaving South Africa? [2]
3.1.4 Name 2 countries that they are moving to? [2X2=4]

3.1.5 What are the main reasons for this movement? (2 answers)  [2X3=6]

3.1.6 Discuss TWO effects that this movement will have on the 4
South African economy. [2X3=6]
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